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No. | Marking Scheme Marks | Comments
= Num=2+—2—of-9———3:—
5 3 4 10
S st
S 2 10
Oigp ) 3
= = X — = —
5 3 10
G Bt 12 -3 M1 | or equivalent
5 10 10
Bo ol
10
Den = 2 + —2—%><E
6 39° 11
5 2 5+ 4 :
= — 4+ —
Tk M1 | or equivalent
S 2
6 2
Num + Den = i + 2
10 2
ke
ST Mi
Hi 4 Al
=5
4
2. LEM — 5756 %7 Ml
= 210 min = 3h 30 min
Time they will ring together again
= 8.48am + 3h 30 min M1
= 12.18 pm Al Accept 1218h, 12:18h, 12:18pm
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No. | Marking Scheme Marks | Comments
4.
é —2x < 1— -2—x
3
3 —6x< 3 —Ox
2 < 4x
Rk 25, I ) e U S (1) Bl
1 - gx <2 —x
3
x — %x < 2.= 1
3
lJc <.l
3
35 55 ) ar el RS SIS e T (ii) B1
1 s 3
2
Integral values
1,2,3 Bl
3
5 Let the polygon be 7 sided
(n'= 2)180 =90+ 90 + 150(n" ~ 2) M1
1807 — 360 = 180 + 150n — 300
30m = 360 + 180 — 300 = 240 Ml
n=3~§ Al
- EAEES P 3
6. Time taken by Kipsang to run 300 m
gLl Ml
5
= 60 sec
Mutungas speed
(Bl o) M1
60
= 6 m/s Al
3




No. | Marking Scheme Marks | Comments
T | (4+2) - (2y-4)
=16+16y+4y2—(4y2—16y+16)
"y 26 v A2 r
=16+16y+4y* —4y° +16y—16 M1
2
8. Commission earned on selling
8 .
Table = — x 4500 (1)
100
= sh 360
Chair - e 00 2
Ui () | M1 | Either (i) or (ii)
= sh 100
Let the no. of chairs sold = x
Ml
360(x — 3) + 100x = 3980
460x. = 5060 Al
xr=i11 3
9. = B1
@ 1-[E-("9)-0)
(b)
al =4 LD
blw 2 3 M1
a=-13, b= -1
P(-13,-1) Al
3
10. Distance from A to B (Using Johns Vehicle)
_ 12x2805 M1
110
= 306 km
Cost of fuel that Jane would requires
12.5x306
= | ——— |x110
[ 100 ) Ml
= Ksh 4207.50 Al
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No. | Marking Scheme Marks | Comments
113 20 - 15+ 30 =90 M1
50 =105
6 = 21° ol
2
2 (@
e %D \c
A B
Bl | v Construction of 67.5° at A
B1 v" Locating Point D &
construction of DC//AB
B1 v' Trapezium ABCD
(b) DC= 3 lemi+ 0.1 Bl
4
13. | Departure(from Msa)
=2.30 am = 0230h (Tue)
Arrival (Mtito Andei)
= 0230 + 3h12min = 0542h (Tue) M1
NB: 36hrs = 1day 12hours
Departure (Mtito Andei)
=0542h(Tue) + 1day + 12 hrs
= 0542h (wed)~+12hours
= 1742hrs(Wed)
Arrival (Nairobi )
= 1742 +5h 25min M1
=2307 h
=11.07 pm Wednesday ]
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No. | Marking Scheme Marks | Comments
14. T
VSF=-—:1
8
— 58
M1
LSF=237:2
Let the height of frustum = x
) 3
12— ﬁ SO o
12 2 2
24 — 2x = 22,956
2x = 1.044 Al
x = 0.522 cm 3
15. 8x+l i5e 2 3x-1 = 120
(R e
23x+3 S 23x ] = 120
23x
PED = 120 M1
Ml
27 (23 = l) =120
2
3x 2 4
22X — 20 — =16 =2
15
M1
3x = 4
Al
= 1l
3
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16.

(a)gl:6x"—6x—12
dx

(b) At x =1

—@—:6x1—6x1—12=—12
dx

m x —12 = -1

B1

Ml

Ml

Al

~~NYy




No. | Marking Scheme Marks | Comments
17 (a)
60 30 30
No. oftins = — X — x —
oGS Ml
=6 x 3 x2
Al
=36
(b)
Mass of tin and jam = 990g+300 g M1
—=1290¢
Mass of carton full of jam tins
= (560+1290x36)g | Ml
= 47000 g
= 47kg
Let N be the number of cartons carried
by pick up
Ml
47N < 600
N 5,2.76
Max N = 12 el
(c)
Retailers S P
= Ksh(110 x 36) bl
= Sh 3960 per carton
Retailers profit = Ksh(3960 — 2880) M1
= sh1080
Retailers % profit
1080
= —— x 100
2880 v
= 37.5% Al

10
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No. | Marking Scheme Marks | Comments
18. (a)

Area of equilateral triangle
=%><10><10><sin60 Ml
= 43.30 sq cm Al

(b)
Volume of triangular prism VABC
= Liaz30x15 M1
3
= 216.5 cm’ Al
(c) (1) h = Height of cone
l><£><3.52xh = 216.5 Ml
BT/
3x7x%x216.5
h=|———
29 %3.5"
~ 16.87 cm A
(ii) Let / =slant height of cone
/1 \/(3.52 +16.87%) Ml
= 4296.8
= 17.23 cm Al
Surface area of cone
Ei o e N M1
7 7
= 38.5+189.53
= 228.03 cm’
Al
10

0N




No. Marking Scheme Marks | Comments
19.
(a) 25x + 35y = 13500 or 5x + 7y = 2700 bl
21x + 38y = 12200 Bl
(b) 5. AN 2700
21 38)\y) " L12200
Deterninant of coefficient matrix
= 5x38—7x21
= 43
Inverse of coefficient matrix
IS 38 -7 Ml for inverse
43{ - 21 5
B ] 38 -—7)\( 2700 M1 pre.multiplying
y) o 43\-21  s5]l12200 by inverse
_1(38x2700+-7x12200 Ml Atltempﬁngto
~ 43| 21x2700 + 5% 12200 i
bbbt
~ 43{ 4300
= 0 M1 | Simplifying
100
Al | For both
Textbook = sh.400 Exercise book sh.100 b
(c) Amount spent by Kasuku school
:25x£x400+35x£x100 Ml
100 100
= Ksh 13175
Difference
~ 13500 — 13175 Ml
= Ksh 325 Al
10

7276
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No. Marking Scheme Marks | Comments
20. (a)(i) AC* = 8 + 6" — 2x8x6xcos 70 Ml
=167.17
AC = 82cm Al
(ii) Length DC
1 1
—of AC = —0of 82cm = 4.1cm
2 2
; 4.1
sin 25 = ——E M1
D6 el
sin 25
Al
=-99cm
(iii) Angle BAD
8.2 i 6 M1
sin 70 sin BAC
s BAC — 6xsm 70
8.2
BAC = sin ' 0.6876
BAC = 43.44
Base angles of triangle DAC
_ 180-50
2
=652
Ml
ZBAD = 65 + 43.44
— 108.4° Al
(b) Area of quadrilateral
:%x8x6xsin70+ %x9.72xsin50 MIM1
= 22.55 + 36.04 Al
= 58.6cm’ 10

297
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No. Marking Scheme Marks | Comments
2. | (a) (x - 4) = (x - 8)(2x + 7)
x* —8x+16=2x>+T7x—16x—56 Ml
r=—x—70=0 M1
(x—9)(x+ 8)=0 M1
x=9o0rx = -8 Al
(b)
! 6 ’
Time taken by John = (i)
2x -3
Time taken by Peter = =— (i)
X
Gi e tlc e
2x—73 x 60 15
6(15x) — 2.4x15%(2x —3) = 4x(2x-3)
90x —72x +108 = 8x* —12x
8x>—30x—108 = 0 or 4x>*—15x—-54 = 0
M1
15 + J(225—-4x4x-54
e \/( X4a4X )
8
15 233 M1
x bz
8
X =60 x = =225
A Al
. 6 6
Time taken by John = =
2x—3 2x6-3
G UL
9 3
= 40 min Bl
10

717




No. Marking Scheme Marks | Comments
22, 50 i M1
@)6) a8 =("8)-("%)
Al
—4
-4
i’ Bl
(i) M(—4 e 0 2) V(s
2 2
N(-2,3) Bl
M1
(iii) NM = (—3) : (‘75)
e
Bl
s Mi
INM| = ,/(—4) + 2 = fiT
Al
INM| = 4.123
—4 2 -6
) ca=(78)- (%)= (")
—6L ) Ll
(6 . a) 5 "’( 2) Ml
s
4
6 —a~ -A—?;-XZ Ml
1
i Al

10
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No. | Marking Scheme | Marks | Comments
5. | (a)
Tally | Frequency | Mid-point (x) | xf CF
4044 | /1l 4 42 168 | 4
45-49 | H#H ]/ 7 47 329 .| ‘11
5054 | #H 11T 8 52 416 | 19
5559 | #H/ 6 S 342 | 25
6064 | HH]/ 7 62 434 | 32
65—-69 | /I 3 67 201 | 35
70-74 | # 5 72 360 | 40
> F=40 2250
B1 \ class interval
Bl \ frequency
Bl |+ Mid-points
Bl | VxS
(b) Modal classes
50-54 Bl
() @
=i 2250 M1
X =—
40
Al
= 56.25kg
i) Med — 50b Bl |V CF
(i) Median student = 20
Mass of 20th student
= 54.5 >
== SN o gX1 M1
1
= 55—k
2 & Al
10
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No. | Marking Scheme Marks | Comments
24. (2)(i) Whenx = -2
y=3x(2) -gx(2f -2x(0)-3 | M
MRS Al
dy
(11)E=x2—x—2 M1
Atx = -2
Ml
dy =4+2-2
=4
Equation of tangent to the curve at x =—2
gl
X i=2) Ml
y+1l=4x+8
y=4x +7 Al
(&) e
0 -y =X X = 18 g po1 Ml
(x+1)(x-2)=0 Ml
Xe—ulor % =2
Coordinates of the turning points
(_1, 2) and (2, _3.2_) - Al1B1
6 3
10
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